Sr No.

MA Applied Economics

=

Find the missing term in the following series:
3,15,?,63,99,143...?

Altl

27

Alt2

35

Alt3

45

Altd

56

Choose word from the given options which bears the same relationship to the third word, as the first two bears:
Horse : Jockey :: Car: ?

Altl

Mechanic

Alt2

Chauffeur

Alt3

Steering

Alt4

Brake

Food is to Fad as Religion is to......7.........

Altl

Crucification

Alt2

Notion

Alt3

Superstition

Alt4

Mythology

Select the lettered pair that has the same relationship as the original pair of words:
Fond: Doting

Altl

Solicitous: Concern

Alt2

Verbose: Wordiness

Alt3

Flurry: Blizzard

Alt4

Magnificent: Grandiose

Which of the following is the same as Emancipate, Free, Release?

Altl

Liberate

Alt2

Quit

Alt3

Pardon

Alt4

Ignore

6

Spot the defective segment from the following:

Altl

| met one of the mountaineers

Alt2

that have returned

Alt3

to their base camp

Alt4

the last week

Choose the meaning of the idiom/phrase from among the options given:
To call names

Altl

to abuse

Alt2

to recall something

Alt3

to count the prisoners

Alt4

to take attendance




8|Our tour programme fell ------ because of inclement weather.
Altl|through
Alt2|off
Alt3|out
Altd|down
9(Choose the option closest in meaning to the given word:
POIGNANT
Altl|{unbearable
Alt2|maximal
Alt3|pathetic
Altd|sharp
10|Choose the antonymous option you consider the best:
WANTON
Alt1|rational
Alt2|abstemious
Alt3|dearth
Alt4|deliberate
11| Six people K, L, M, N, O and P are sitting around a table as per the following conditions. i.N
and O are opposite each other
ii. Kis to the right of M
iii. L and K are opposite each other
iv. N is to the left of P
Who is to the left of L ?
Alt1|P
Alt2|M
Alt3|N
Alt4{ O
12| Study the following table carefully to answer the questions that follow (15 to 17) :Total number of employees in
different departments in an organisation and (of these) percentage of females and males
Department Total number of employees Percentage of female employees Percentage of male employees
IT 840 45 55
Accounts 220 35 65
Production 900 23 77
HR 360 65 35
Marketing 450 44 56
Customer Service 540 40 60
What is the total number of male employees in the IT and Customer Service departments put together?
Alt1|115
Alt2(786




Alt3

768

Alt4

85

13

Study the following table carefully to answer the questions that follow (15 to 17) :Total number of employees in
different departments in an organisation and (of these) percentage of females and males

Department Total number of employees Percentage of female employees Percentage of male employees

IT 840 4555

Accounts 220 35 65

Production 900 23 77

HR 360 65 35

Marketing 450 44 56

Customer Service 540 40 60

What is the total number of employees in all departments put together ?

Altl

3260

Alt2

3310

Alt3

3140

Alt4

3020

14

Select the alternative that logically follows from the two given statements, but not from one statement alone:
All Cats are dogs
No dogs are rats

Altl

All cats are rats

Alt2

Some cats are rats

Alt3

No cat is rat

Alt4

None of the above

15

In a certain code language, “ When did you come” is written as ‘ti na ki ja’. “Will you come again” is written as
‘na pa sa ja’ and “She will go” is written as ‘pa da ra’. How is “again” written in that code language ?

Altl

Na

Alt2

Sa

Alt3

ja

Alt4

da

16

In each of the following questions some statements are followed by two conclusions (i) and (ii). Read the
statements carefully and then decide which of the conclsions follow beyond a reasonable doubt. Mark your
answer as
Statement: The aspirants should apply through a proper channel for permission Conclusions: (i) Those who
apply through proper channel will get permission
(ii) Those who do not apply through proper channel will not get permission

Altl

If only conclusion (i) follows




Alt2| If only conclusion (ii) follows
Alt3| If neither conclusion (i) nor (ii) follows
Alt4| If both the conclusions follow
17| The average height of 3 children is 115 cms. If the heights of 2 children are 117 cms. And 112 cms. Respectively,

the height of the third child is

Altl

112 cms.

Alt2

113 cms.

Alt3

115 cms.

Alt4

116 cms.

18

What is the 30% of 40% of 2/5th of 50007

Altl

500

Alt2

800

Alt3

240

Alt4

720

19

There are n persons in a room. Each one is shaking hand with the other . Ultimately there are 66 hand-shakes.
Then n=

Altl

11

Alt2

12

Alt3

16

Alt4

33

20

A problem is given to students

10 students choose option A ;

6 students choose option B ;

2 students choose option C;

Gopal choose option D;

5 students did not answer.

which option is correct if the teacher tells that One-Twelth of the class gave the correct answer.

Altl

B

Alt2

Alt3

Alt4

A
C
D

21

According to Marshall, the basis of consumer surplus is

Altl

Law of equi-marginal utility

Alt2

Law of proportions.

Alt3

Law of diminishing marginal utility.

Alt4

Law of utility

22

Labour productivity measures

Altl

The output per machine.

Alt2

Marginal output.

Alt3

The output per worker.

Alt4

Total output.




23|In perfect Competition,

Alt1[The price equals the average variable costs.

Alt2|The price equals the total costs.

Alt3|The price equals the marginal revenue.

Alt4|The fixed cost equals the variable costs.

24|The demand for factors of production is a

Alt1|Derived demand

Alt2|Declining demand

Alt3|Existent demand

Alt4|Direct demand.

25|National Income is

Alt1|Net National Product at factor cost

Alt2|Net Domestic Product at factor cost

Alt3|Net National Market at factor cost

Alt4|Net Domestic Market at factor cost

26|The Phillips curve shows the relationship between inflation and what?

Altl] Unemployment

Alt2|The balance of trade.

Alt3| The rate of growth in an economy.

Alt4|The rate of price increase

27|Disinflations means

Altl] When the increase in price is more than average.

Alt2| When increase in prices in the long run.

Alt3| When increased prices decrease.

Alt4| When the prices increase due to export.

28|Keynesian Liquidity Preference theory explain the

Altl| Interaction between the real and monetary sector

Alt2|Process of adjustment in money and Capital markets for bringing about changes in the interest rate

Alt3|Operation of the money market in an economy.

Alt4| Motivation of a speculator.

29|Which of the following shows the fisher equation of exchange?

Altl| MY=VP
Alt2| MV =PQ
Alt3| VT=PM

Alt4| MT=PV

30(Per capita income rise when

Altl| GNP and population increase at same rate.

Alt2| GNP increase slower then population.

Alt3| GNP increase faster than population.




Alt4| GNP and population decrease.

31|Tertiary activity includes
Altl| Services
Alt2| Agriculture
Alt3| Production
Alt4| Industry
32|The importance of public finance was highlighted by
Altl| Monetarists
Alt2| Economists
Alt3| Keynesians
Alt4|Classical
33|The free market involves
Altl| The subsidizing of products by the government
Alt2|All trade provision of products
Alt3| The free provision of products
Alt4| Market forces of supply and demand
34|Income tax collection is part of
Altl| Capital budget
Alt2| Revenue budget
Alt3| Case budget
Alt4| Public account
35(Which of the following is not a direct tax?
Altl| Sales Tax
Alt2| Estate Duty
Alt3| Income Tax
Alt4| Wealth Tax

36

Which of the following taxes can be shifted?

Altl| Wealth Tax

Alt2| Sales Tax

Alt3| Personal income Tax

Alt4] Customs Tax
37|The Public debt of the federal government is

Altl| Identical to private debt in its burden on the borrower.

Alt2| Primarily held internally.

Alt3| Owed primarily to foreign banks.

Alt4| Very unstable relative to GDP during 1950-1980
38|Fiscal Policy is connected with

Altl

Exports and imports

Alt2

Public Revenue and expenditure




Alt3|lssue of currency
Alt4| Interest rate
39(A “closed economy” is an economy in which
Altl| Only exports take place
Alt2| The money supply is fully controlled
Alt3| Neither exports not imports take place
Alt4| Deficit financing takes place
40(National income estimates in India is prepared by
Altl| Planning commission
Alt2| Finance ministry
Alt3| C.S.0
Alt4| RBI
41{Economic survey in India is Published officially, every year by the.
Alt1| Planning commission of India
Alt2| Ministry of Industries, Govt. of India
Alt3| Reserve Bank of India
Alt4| Ministry of Finance, Govt. of India
42|Application of modern technology to increase the yield is due to
Altl] Mechanization
Alt2| Green revolution
Alt3| Subsistence farming
Alt4| Industry
43(The First industrial Policy resolution (IPR) was presented in the year
Alt1]1947
Alt211948
Alt3| 1949
Alt4|1950
44(The oldest large-scale industry of India is
Altl| Paper
Alt2| Jute
Alt3| Cotton textiles
Alt4| Iron and steel
45(Bank rate in Indian is determined by
Altl| Reserve Bank of India
Alt2| Government
Alt3| Cooperative Bank
Alt4| Commercial Bank
46(The First Finance Commission was constituted in the year

Altl

1947




Alt2[1950

Alt3| 1951

Alt4| 1952

47|The chairman of 10th Finance commission was

Alt1| C.Rangarajan

Alt2| K.C.Pant

Alt3| Mhohan Dharia

Alt4| A.M.Khusro

48|Which tax is collected by Panchayat?

Altl| Custom Duty

Alt2| Sales Tax

Alt3| Land Revenue

Alt4| Tax on local fairs

49|Poverty is estimated from

Alt1| NSSO data

Alt2| CSO data

Alt3] NAS data

Alt4| Planning Commission’s data

50|The state having the highest literacy rate among women in India is

Alt1]| Tamil Nadu

Alt2| Kerala

Alt3| West Bengal

Alt4| Maharashtra

=

51|Imperfect competition was introduced by

Altl| Marshall

Alt2| Chamberlin

Alt3| Keynes

Alt4| Ricardo

52|The median is

Altl| Affected by extreme scores

Alt2| The middle point

Alt3| The average

Alt4| The highest number

53|Theory of absolute advantage was propounded by

Alt1| Marshall

Alt2| Ricardo
Alt3] Adam Smith
Alt4| Malthus

54|Reserve bank of India was nationalized in the year




Alt1{1949
Alt2| 1969
Alt3| 1935
Alt4| 1945
55|‘Food for work’ Programme was renamed as
Altl| IRDP
Alt2| MNP
Alt3] NREGA
Alt4| RLEGP
56(Velocity of money is assumed to be constant
Altl| Keynes
Alt2| Classical
Alt3| Hansen
Alt4| IS-LM theory
57|Indian Green revolution is the most successful in
Altl| Wheat and Potato
Alt2[{Wheat and Rice
Alt3| Jowar and Oil Seeds
Alt4| Tea and Coffee
58|Indifference curves are usually
Alt1| Convex
Alt2| Concave
Alt3| L-shaped
Alt4| Vertical
59(Close down point of a company is a situation where its
Alt1|Average Revenue Greater than Average Cost
Alt2|Average Revenue Equal to Average Cost
Alt3|Average Revenue Greater than Average Variable Cost
Alt4|Average Revenue Equal to Average Variable cost
60[At what condition Frictional unemployment will occur?
Alt1|When there is decrease in real GDP
Alt2|When technological change is taking place
Alt3|When an individual retires
Alt4d|when one is first entering into the labour force
61(When output exceeds spending
Alt1|There is unsold output and the level of output will rise
Alt2|There is unsold output and the level of output will fall
Alt3|There is unsold output and the level of spending will rise
Alt4|There is no unsold output since the level of spending will rise.




62

Simultaneous equilibrium in the money (LM) and goods (IS) markets exists

Altl

At an unlimited number of output levels and rate of interest

Alt2

At an unlimited number of output levels and only one rate of interest

Alt3

At only one output level and rate of interest

Altd

At only one output level and an unlimited number of rates of interest.

63

The circular flow of income is defined as

Altl

Money sitting

Alt2

Flow of income between households and firms

Alt3

Money on the wings

Alt4|Roundaboutness of money
64|Who made the statement “the National Income consists of a collection of goods and services reduced to
common basis by being measured in terms of money”?
Alt1{J.M.Keynes
Alt2|J.R.Hicks
Alt3|Fisher
Alt4|Karl Marx
65[(Which of the following books was published one hundred and fifty years back?

Altl

General Theory

Alt2

Wealth of Nations

Alt3

Das Capital

Alt4

The General Theory of Employment, Interest, and Money

66

The multiplier formula is defined as

Altl

K=1/1-MPC

Alt2

K=1/MPC-1

Alt3

K=1/1-APC

Alt4

K=1/APC-1

67

When exchange rates are flexible, a decrease in country B’s taxes

Altl

Results in an increase in country B’s exports

Alt2

Results in a decrease in the value of country B’s currency

Alt3

Causes output in country B to increase

Alt4

Has no effect upon output in country B.

68

Non-Accelerating Inflation Rate of Unemployment (NAIRU) is associated with

Altl

Milton Friedman

Alt2

Otto Eckstein

Alt3

Roger Brinner

Alt4

Thoman F. Dern Burg

69

Who made the statement “History of class struggle is the dominant feature of social life?”

Altl

Adam Smith

Alt2

Kal Marx

Alt3

Malthus




Alt4|{Schumpeter

70

Which one of the followings is a wrong match?

Name
1. John Maynard Keynes
2. Adam Smith
3. David Ricardo
4. Milton Friedman

Period
(1883 - 1946)
(1823 - 1890)
(1772 - 1823)
(1912 - 2006)

Altl

Alt2

Alt3

Alt4

1
2
3
4

71

What was the growth rate of the global economy in the year 20167?

Altl

2.5 per cent

Alt2

2.7 per cent

Alt3

3.1 per cent

Alt4

3.5 per cent

72

Which of the followings is incorrectly matched?

Indicator Current Rate
1. CRR 4 per cent
2..SLR 20.50 per cent

3. Repo Rate
4. Reverse Repo Rate

6.25 per cent
7.00 per cent

Altl

Alt2

Alt3

Alt4

1
2
3
4

73

Which one of the followings the proposed GST Rates are correct?




1.5 percent 12 per cent 18 per cent 28 per cent
2.5 percent 13 percent 18 percent 29 per cent
3.5 percent 12 percent 18 per cent 25 per cent
4. 8 percent 15 per cent 20 per cent 28 per cent

Altl

Alt2

Alt3

AlWIN|F

Alt4

74|Fund of Funds of Start-ups (FFS) is managed and operated by

Alt1|District industries center

Alt2[Small Industries Development Bank of India (SIDBI).

Alt3|State Finance Corporation of India

Alt4|Foreign Investment Promotion Board

75[Which one of the following schemes trying to provide employment through skill training programmes in rural
area

Alt1|Deen Dayal Upadhyaya Grameen Kaushalya Yojna

Alt2|Gramin Bhandaran Yojana

Alt3|Kishore Vaigyanik Protsahan Yojana

Alt4|Deen Dayal Upadhyaya Gram Jyoti Yojana.

76{What is the rank of India with respect to “Ease of Doing Business in India”?

Alt1{100

Alt2]120

Alt3|130

Alt4]|140

77|India’s Public Debt to GDP ratio in year 2016 is

Alt1|49.50 per cent

Alt2(59.50 per cent

Alt3169.50 per cent

Alt4{79.50 per cent

78|India’s foreign exchange reserve at present is

Altl|around $372.732 billion

Alt2|around $362.732 billion

Alt3|around $352.732 billion

Alt4|around 342.732 billion

79|A theory is defined as

Alt1|A hypotheses

Alt2|A validated hypotheses.

Alt3|An assumption




A|t4| Proposition

80|If the percentage increase in the quantity of a commodity demanded is smaller than the percentage fall in its
price, the coefficient of price elasticity of demand is

Altl|Greater than 1

Alt2|Equalto 1

Alt3|Smaller than 1

Alt4|Zero

81|The coefficient of price elasticity of demand between two points on a demand curve is called

Alt1|Arc elasticity

Alt2|Price elasticity

Alt3|Point elasticity

Alt4|Cross elasticity

82|The Engel curve for a Giffen Good is

Altl|Vertical

Alt2|Horizontal

Alt3|Negatively sloped

Alt4|Positively sloped

83|The cost that a company incurs in purchasing of any factor of production is called

Alt1|Implicit cost

Alt2|Variable cost

Alt3|Fixed cost

Alt4|Explicit cost

84|The strategy of maximising the minimum gains is called

Alt1|Minimax

Alt2[Maximin

Alt3|Pure strategy

Alt4|Mixed strategy

85[NITI Aayog’s Proposed New Perspective Plan is for a period of

Alt1|Five Years

Alt2|Seven Years

Alt3|Fifteen Years

Alt4|Seventeen Years

86(The “Golden Age” Model was developed by

Alt1|Joan Robinson

Alt2]).K.Galbraith

Alt3|Robert Solow

Alt4|Rosenstein -Rodan

87|Credit Policy is formulated by

Alt1|CLB




Alt2|SEBI

Alt3|RBI

Alt4|Finance Ministry

88|The main target of Public Distribution System in India is

Altl|Import of food grains

Alt2|Improving quality of food grains

Alt3|Ensuring food security

Alt4|Export of food grains

89|Variance is

Alt1|First moment

Alt2|Second Moment

Alt3|Third moment

Alt4|Fourth Moment

90|Type | error is defined as

Alt1|Reject null-hypothesis when it is false

Alt2[Reject null-hypothesis when it is true

Alt3|Accept null-hypotheses when it is true.

Alt4|Accept null-hypotheses when it is false.

91|Factor reversal test is satisfied by

Alt1|Paasche’s Index

Alt2|Marshall-Edgeworth Index

Alt3|Fischer’s Index

Alt4|Laspayres’s Index

92(How many people opened bank accounts under Pradhan Mantri Jan Dhan Yojana Scheme as on April 2017

Alt1|About 8.52 crore

Alt2]18.52 crore

Alt3|About 28.52 crore

Alt4(38. 52 crore

93|Pradhan Mantri Sukanya Samriddhi Yojana is

Alt1|{Small deposit savings scheme for a girl child

Alt2|Small deposit savings scheme for small boys

Alt3|Small deposits saving scheme for disabled elders.

Alt4|Small deposits saving Scheme for senior citizens.

94[Which one of the followings is incorrectly matched?

Alt1{Pradhan Mantri MUDRA Yojana (PMMY) : Financial support for growth of micro enterprises sector.

Alt2|Pradhan Mantri Jeevan Jyoti Bima Yojana (PMJIBY) : Provide life insurance cover to all Indian citizens

Alt3[Pradhan Mantri Suraksha Bima Yojana (PMSBY) :Provide accidental insurance cover to all Indian citizens

Alt4|Sansad Adarsh Gram Yojana (SAGY): Achieve housing for all by the year 2022.




95(Which country is the largest producer of milk in the world?

Alt1|Denmark

Alt2|France

Alt3|China

Alt4|India

96| Which one of the following measures is not suggested by RBI to solve NPA problems?

Alt1|Aam Admi Bima Yojana

Alt2|Corporate Debt Restructuring Scheme (CDR),

Alt3|Corrective Action Plan (CAP)

Alt4|Joint Lenders Forum

97|How many banks were merged with SBI in April 20177

Alt1|Three Associate Banks

Alt2|Four Associate Banks

Alt3|Five Associate Banks

Alt4|Six Associate Banks

98[Which one of the s is not the purposes of Kisan Credit Card (KCC)

Alt1|Providing credit for girl child education,

Alt2|Providing short term credit requirements for cultivation of crops

Alt3|Providing credit for Post harvest expenses

Alt4|Providing credit to marketing of the farm products.

99(“t”-test is used for testing of the following tests except one?

Alt1|Testing a specific mean

Alt2|Testing for Comparing two means

Alt3|Testing of variances

Alt4|Paired —test

100|{What was the period of Planning Commission in India?

Alt1]1947-2014

Alt2|1947-2015

Alt3]1950-2017

Alt4|1950-2014




